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SOME BASIC CONCEPTS OF CHEMIST Ay

Q. 18,

Ans,

Q.18

Ans.

Q. 20,

Ans

Q. m._,

Ans.

% in-d
Moles of CHOL, = —0x 108
118,56 mol
= 1.2586 « 109
Mass of water = 100 g
1.225%10°"

Molality

w LMD
100

, = 1.266 x 10 m

_.”H press the following in the scientific notation,
(i) 0.0048 (i) 284,000 (#fi) BOOH

(Er) SO0 (o) 6.0012

Refer Solved L._......_.._.__ﬁ_:u__... 2 (Page 15).
How many significant figures are present in
the ﬁn-_ﬁdﬂ..m-...ﬁ o
) 0.0025 (in) 208 (idi) G005
(ir) 126,000 (o) 5000 {vi) 2.0034
(1) 2 (8} 3 (rir) 4
(rrd 3 () 4 (vi) B
Round up the following upto three significant
higures :
(£) 34.216 (i) 10.4107 (i) 0.04597 (fu) 2808
(1) 342 (i) 104 (r22) 0.0460 (fv) 2810
The following data were obtained when
dinitrogen and dioxygen react together to form
different compounds :
Mass of dinitrogen  Mass of dioxygen
(i) ldg 16 g
@) 14 g 32 g
(iii) 28 g 32 g
(iv) 28 g B0 g
{a) Which law of chemical combination is
obeyed by the above experimental data 7
Give its statement.
ih} Fill in the blanks in the following
CONVErsions :
() 1 EE B oerescesacasnmsnsisinss IO = soversssssssrreresssssss JHIN
(EF) 1 DNE = iooisenmssanssnnnmnnss WH = SECEEE ng
AT B ) P g L i AR AR T
{a) Fixing the mass of dinitrogen as 14 g, the masses

of dioxvgen combined will be

16 32 16 40
or s 4 ! e i B
This is a gimple whole number ratio and hence, the
data illustrate the law of multiple proportions.
The law of multiple proportions states that when
two elements combine to form two or more than two
compounds, then the mass of one of the elements
which combine with a fixed mass of the other bear a

gimple whole number ratio.

() (L)
1000m  100em 10 mm B
= —— —_— W — 10" mum
1kan = 1 m x 1 km i 1m 4 lom X _
10 1 pm i
L % W = 1} 1N
1km =1 km 1km 104 m ¥

Q. 22.

Ana,

Ans,
Q. 25,

Ans,

Correct answer ; 107, 10'°

L & 1kg 8
_“..._ _ - _ 1 - “.“__u Th
I 08 = AR X Ty 10008
1 l ng 8
.l E a—BL L 8y
BRERLAEE Y T0Re ~ 107 g i

Correct answer : 1077, 10°

1L
T = o ‘
____.E._ u Hq-_._" H-u_._—__.__n ._.__.._‘.u_.._.ﬂ._.-._-h = H_H_ _.

’ | el i ,

I mL=1em" = _ | =10 dm?
Ithem |

Correct answer @ 1077, 107"

If the speed of light is 3.0 x 10° ms™', calculate

the distance covered by light in 2.04) ns.
Digtanece coversd by light = ...n_.:..__mm » Time

: [ 107
=3.0% 10° mat = 2.00 na =
| Ins |

= 6.00 x 107" m = 0.800 m

. In a reaction

A + B, —— AB,
identify the limiting reagent if any in the
following reaction mixtures :

(i) 300 atoms of A + 200 molecules of B

(i) 2mol of A +3 mol of B
(iii) 100 atoms of A + 100 molecules of B

(iv) 65 mol of A + 2.5 mol of B

(r) 2.5 mol of A +5 mol of B
Refer Solved Example 88 (Page 65).
Dinitrogen and dihydrogen react with each
other to produce ammonia according to the
following chemical equation :

N, (g) + 3H, (g) —— 2NH, (@)
(i) Calculate the mass of ammonia produced
if 2.00 x 10" g of dinitrogen reacts with 1.00
x 10%g of dihydrogen.
(6d) Will any of the two reactants remain
unreacted 7
{iid) If yes, which one and what would bhe iis
mass T
Refer Solved Example 92 (Page 66),

How are 0.50 m Na,CO, and 0.50 M Na,CO,
different ?

Molar mass of Na,C0, =2 x 23 + 12 + 3 % 16
= 106 g mol™

Mass of 0.5 mol of Na,CO, = 106 x 0.5 = 53 g

0.50 m Na,CO, solution means that 0.5 mol or 5 5 of
Na,CO, are present in 1000 g of solvent.

0.60 M Na,CO, solution means that 0.5 mol or 23 g
of NayCOy are present in 1 L of the solution,

If ten volumes of dihydrogen gas react \=ith

five volumes of dioxygen gas, how moay
volumes of water would be produced 7

|

_ ; \
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